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K = ¢ ( CH,0H)
( c(H,0) / ¢(CO,) *¢'(H)
Q. ) Q. K =(0.75x0.75) /(0.25 x0.75%) =16/3.

0.5 mol CO, 1.5 mol :
. 0.=(0.75x2.25) /(0.75 x0.75°) =16/3 =K

2.
o 2 (2003 12 )
1. 24(g) +
1 1L I'mol  B(o) ==2¢(g) AB C
CO, 3 mol H, 1CO,(g) +3H,(g) =— 4 mol.2 mol 4 mol.
CH,OH(g) +H,0(¢g) - CO, CH,O0H( g)
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13V/10 0=
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3 1. AgCl K, =1.80 x 107"
0.002 mol « L™ NaCl 0.002 mol * L.~
AgNO, AgCl ?
Q. =c(Cl7) - c(Ag") =
0.001 x0.001 =10"° >K_ .
(2)
4 25C K, Fe(OH), =8x
107" Fe( OH), Fe( OH) ,
c(Fe’™) 1.0 mol « L'
pH= . ( 1g5=0.7)
Q. =c(F) + &(OH)
<K, Fe( OH), c(OH™) <2 x

107" ¢(H") =1.0x10"/(2x107") =5 x
107 pH<2-1g5=2-0.7=1.3,
(3)
5 K, (AgCl) =1.8 x 107"
K, (Agl) =1.0x107". AgCl Nal
Agl Nal .
AgCl te(Agh) =
VK, (ACD) = /1.8 x10 7" =1.34 x 10
Agl Q. =c(17) c(Ag") >
K, (Agl) c(17) > K, (Agl)/
¢(Ag") = 1.0 x107"°/1. 34 x 107 = 7. 46 x
10 " mol « ™",

N

1. H,50,

H,S0, ¢(H")
: H,50, H' OH"

H* OH-
K, H,S0, ¢(H")
¢(H") *¢(OH") >K,
2. CH,COONa

. 33 .
?
¢( CH,COOH)
CH,COOH CH,COONa OH"
o . c
( CH,COOH) ¢( CH;COOH) * ¢(OH") >K,
( )
1. 2

: CH,COOH <= CH,C00~ + H"
K, =¢(CH,CO07) - ¢(H") /¢( CH,COOH)
m(m>1) Q.=
K,/m <K,

Q.= m'" " (A)
c(€) »m' (D

a+b-m-n

:ma+[)fmfn . K
a+b>m+n
a+b=m+n Q, =K : a+b<m+n
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